Name:

TGT Assessment - Addition 1

1 3,824 2 1,623
9,12 |76 4,127 |8
+12,13]4)|2

3 7,1314|5 4. 212(6,/8|0(9

1,|] 7,146 913(3,/]8]9|4

6,8 |3|7 + 114,/]8|4|2




Name:

TGT Assessment - Subtraction 1

L 5| 8, 0 N >3 ]2
1, 6 - 1 51
3. 1,10 4 6.18,8
8 - |5 7




$/16(9.19]9 $ [3]|6.{1|6
1.
$/9(2.|7|6 $ [4/0.|7|8
$/19(3./16|7
5|713.19]0 $ (126|829
3.
$|/7(3./4|6 $ 19123399
+ 718|832 $19(4(8. |72




Name:
TGT Assessment - Subtraction with Decimals

1 $/8(0(0.|010 5 $|3
-1%$(7]9|0.|]6|4 - %2
3 $/4|0(0.|19 |4 4. $|6




Name:

TGT Cumulative Quiz

10 9
1. . ’
$|7 : t 1319
3 412 4, $128
18, $[7]4




Name:

Bell Ringer - Addition 1

1 3|8 2. 613
512 217
3. 112 4 216
1|2 313
6| 2 114




Name:

Bell Ringer - Subtraction 1

518
1
- 1412 2.
3 51210 4




Name:

Bell Ringer - Addition with Decimals

1 $(3.|4 5 $12.13
S+ (%16 o+ S 2.7
3_$5.03 4.$025
$(0./1]3 $12.17]1
+1%$1]0.]9]|2 +1%$1/4.]0] 4




Name:

Bell Ringer - Subtraction and Addition with Decimals

1 $/5(7|0 5 $/8.19
-1%$(3.]2]|0 S|+ $[3.]7
3 $12./0| 4 4. $(9.16




Name:

Bell Ringer - Missing Numbers

1 Complete two addition and two subtraction problems based on the fact family.
1|1 9 2 |0 2| 0 20
+ + - -
11 9
N N I
5 Complete the fact family based on the two addition and two subtraction problems.
6 1|2 1|8 1] 8 7/ |\l
+ 1 ]2 + 6 -1 ]2 - 6 / \
1 |8 18 6 1 2 f N\
3 Complete the number sentence based on the fact family.
2|11|-11]4 = 21
7 14
4 Write a number sentence based on the fact family with a missing number.
] = 30
n 28




Name:

Bell Ringer - Missing Numbers with Money

$3.00
1 Complete two addition and two subtraction |
" |problems based on the fact family.
$1.87 $1.13\_ A
$ [1.]1 |3 $ |1.18 |7 $ [3./0]|0 $ [3.]0]0
+ |$ + |$ -1 $ -1 $
1 Complete the fact fmily based on the two
" |addition and two subtraction problems. /| \
// \\
/ AN
$ |3.]4 |5 $ |56 |7 $ 19.]1]2 $ 19.]1]2
+ |$ |5.16 |7 + |$ [3.14]5 -1 $|5|6]|7 -1%$(3.14]|5
9.1 |2 9.1 |2 3.14|5 5.6 |7
3 Complete the number sentence based on the fact family.
$ |5/2|5|-|%$|3]1]0 = $5.25
$3.10 $2.15
4 Write a number sentence based on the fact family with a missing number.
$ - |3 = |
$8.99 |
n $0.75 \ .




Name:

Missing Number Exit Slip 3-2-1

3 Complete the three remaining addition and subtraction problems.
1 (8 2 |1 3 19 3/ 9 39
+ 12 |1 + - -
3 19
21 18
5 Using the fact family, write two number sentences.
19
1)
13 6
2)
In a fact family, one number is unknown. How can you solve for it?




Name:

TGT Assessment - Addition 1

8,09
8194
8|14|2
51415

6|23
2|78
3142
2 |4 |3

112 |1 |1

1|4,

1,

4,

8,

2| 2|6,
9|33,

1715,

+ | 2,

1,

8124
2|76
1 (0 |0

314|5
714|6
8|13|7
9128

3,

+ |9,
1 |3,

111 |1 |1

5|7,
1,

+| 8|6,

1145,

Name:

TGT Assessment - Subtraction 1

8195

11 |10

213109

2 |1 |0 |10

2|3

1|05,

7|5|6

7 19 |9 |10
8|/0(0]O0

1,

5




10

21114

5 |0 |10

2|7 |8

1,

8,86 |0
5| 71313 |2

3

1|2]6,

6,

S,

1

2141|4

8
1

000

5|6,

0 |9 (9 |10

1




Name:

TGT Assessment - Addition with Decimals

0

0

6

1

1

3 | 6.

410.|7|8

1|1 |2 |2 |2

112(6(8.(2]9
912(13(3./]9]9

$/19(4(8.|7]|2

$
$

$
$

+1$/19]3.]6|7
$ (1 |7 |0.]6 |1

4.

$|11|1(4]|5]|1.

8

6

1

1

$/16(9.19|9

51713.19]0

$/7(3./4|6

41 3 |5.

+1%$(9|2.|7|6
$ |12 |6 (2.7 |5

$

+|$]7|8|8.[3]|2

$ 1,




Name:

TGT Assessment - Subtraction with Decimals

1210

7 19 |9 |9 |10 2 |2 |0 |10

{ $(8|0/0./010 $(3|3[2/0]9
' $/7/9/0.|6|4 $/2(9!8./9]|8
$/0/0]9./316 $(3|2.]1|1

10

3|/9/(10/8 |14 5 |10|5 |0 |10

3 $/4|01/0./19 |4 $/6|0|6 |2 |0
' $ 85.13 |7 $14(14(3.]13 |2
$(3|1]5.|5 |7 $(1|6]2.|7 |8




Name:

TGT Cumulative Quiz

9

0

1

3193
51012

419,

3|9,
8 | 8,

$|12|8|6.]1 |6

$|7]14|4.]3 |2

$/1{0(3|0.|4|8

12

53 |5
4199

11

21013 |4

0/919]9]10

$|7]6.|615
$12(3.13]|5

311|192 |14

4

1|8,
2|3,

$/1{0(0.|0]0




Name:

Bell Ringer - Addition 1

1 1
1 3|8 2. 613
512 217
9 |0 910
1
3. 112 4 216
1|2 313
6| 2 114
8|6 713




Name:

Bell Ringer - Subtraction 1

1. > |8 2. 6|8
412 2|7
6 4|1

10 12
3 210 4. 212|6
1|2 133
0|8 9|3




Name:

Bell Ringer - Addition with Decimals

$/12.13|0

$/5/0|4

+1%$(12. |74

$/0.]2|5

$12.|7]1

$|7./0|0

+($|4.10| 4

3

1

$13.14|2

$ |5 |0 |5

+$]1./6]|3

$/5(/0|3

$0.

$(6./0|8

+1$|0.19|2




Name:

Bell Ringer - Subtraction and Addition with Decimals

1

1 $|5.[7]0 5 $(8.191]0
' $13./210 o+ $(3.|7|4
$ (2. 15 |0 $(1/12./6|4

1

3 $12.10| 4 4 $/9./6/|5
$11.121]09 -1%$(4.13| 4
$/3./3]3 $/5 (3|1




Name:

Bell Ringer - Missing Numbers

Complete two addition and two subtraction problems based on the fact family.

1.
11 9 2 |0 2| 0 20
+ 9 + |1 |1 - 9 -1 11
2 |0 2 10 1|1 9
11 9
I S I
5 Complete the fact family based on the two addition and two subtraction problems.
6 1 2 1 8 1| 8 /18
+ 1 ]2 + 6 -1 ]2 - 6 / \
18 18 6 1| 2 £ N
16 12
| | I
3 Complete the number sentence based on the fact family. | \ |
2(1|-1]1|4 = 7 21
7 14
4 Write a number sentence based on the fact family with a missing number.
3|0|-12]|8 = |n or 30
310]- n =12 |8




Name:

Bell Ringer - Missing Numbers with Money

$3.00
1 Complete two addition and two subtraction
" |problems based on the fact family.
$1.87 $1.13 \ A
$ [1.]1 |3 $ 1.8 |7 $ [3./]0]|0 $ [3.]0|0
+ |$ [1.|18 |7 + ($ |1.]1]3 - 1$|1.|18]|7 - %1113
$ 3.0 |0 $ [3.]0 |0 $ 1113 $|1. |18 |7
1 Complete the fact fmily based on the two
" |addition and two subtraction problems. ‘ $9.12
/ \
Z$5'67 $3.45 i
$ [3.]4 |5 $ [5.]6 |7 $ [9.]1]2 $ [9.]1 |
+ |$ |5.16 |7 + ($ |3.145 -1$|5 (6|7 -1%$13.14]|5
9.11 |2 9.11 |2 3./14 |5 5.6 |7

Complete the number sentence based on the fact

3.
$ |[5]2|5(-%|3.|1]|0 = $2.| 1|5

4 Write a number sentence based on the fact family with a missing number.
$ [8.]9]9|-%|0.|7]|5 = n

or




Name:

Missing Number Exit Slip 3-2-1

3 Complete the three remaining addition and subtraction problems.
1 (8 2 |1 3 19 3/ 9 39
+ 12 |1 + |1 |8 - 11 |8 -1 21
3 19 3 1|9 2 |1 1 8
21 18
5 Using the fact family, write two number sentences.
19
1) (1 |9 - 1 (3 = 6
1 |9 - 6 = 1 3
13 6
2) |6 + 1 |3 = 19
1 |3 + 6 = 119
1 In a fact family, one number is unknown. How can you solve for it?

Answers with vary. Students should understand that in a fact family, there
are always three numbers. If two are missing, you can either add or
subtract to find the missing number.










